GENERAL NOTES:

1. STORM PANEL SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE
WITH THE 2020 (7th EDITION) OF THE FLORIDA BUILDING CODE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE, FOR A WIND
SPEED AS REQUIRED BY THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED AND FOR A DIRECTIONALITY
FACTOR Kd=0.85. USING ASCE 7-16 SHALL NOT EXCEED THE MAXIMUM (A.S5.D) DESIGN PRESSURE RATINGS
INDICATED ON SHEETS 9 THRU 15.

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7-18 SHALL BE
FIRST REDUCED TO A.S.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.6 IN ORDER TO COMPARE THESE W/ MAX.
(A.S.D) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 9 THRU 15.

N ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.E.D. AS TESTED WERE NOT OVER STRESSED, A 33%
INCREASE ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. A DURATION FACTOR CD=1.60 WAS
USED FOR VERIFICATION OF FASTENERS IN WOOD.

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1626

OF THE ABOVE MENTIONED CODE AS PER AMERICAN TEST LAB REPORTS #1022.01-96 # 0221.01-01AND #0616.02-05 PER
PROTOCOLSTAS-201, TAS—-202AND TAS-203

2. ALL ALUMINUM SHEET METAL PANELS SHALL HAVE 5052-H32 OR 3004-H34 ALLOY.

3. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063—-T6 ALLOY & TEMPER UNLESS OTHERWISE NOTED. ALL

ALUMINUM EXTRUSIONS IN CONTACT WITH DISSIMILAR MATERIALS SHALL COMPLY WITH SECTION llI-6 OF THE 2015 ALUMINUM
DESIGN MANUAL.

4. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AIS! SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN

50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH & SHALL COMPLY W/ FLORIDA BUILDING CODE SECTION
2411.3.3.4.

5. BOLTS TO BE ASTM A-307 GALVANIZED STEEL OR AISI 304 SERIES STAINLESS STEEL, WITH 35 ksi MINIMUM YIELD STRENGTH.
6. ANCHORS TO WALL SHALL BE AS FOLLOWS (UNLESS OTHERWISE NOTED):

(A) TO EXISTING POURED CONCRETE:
— 1/4” @ TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX. (REGULAR OR 410 S.8.)
- 1/4” & CRETE-FLEX SS4 ANCHORS AS MANUFACTURED BY ELCO CONSTRUCTION. PRODUCTS.
- 1/4” # CF TAP—GRIP ANCHORS (BERTHA STUD-CON), AS MANUFACTURED BY TRU~FAST CORPORATION.
— 1/47 @ ZAMAC NAILIN ANCHORS AS MANUFACTURED BY DEWALT, INC.

- 1/4” # x 7/8" CALK—IN ANCHORS OR ELCO male & female “PANELMATE” AS MANUFACTURED BY DEWALT, INC
AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY.

1/4" & x 3/4” ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY.

NOTES: _

A.1) MINIMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHORS OR CRETE—FLEX SS4 IS 1 3/4%
FOR ZAMAC NAILIN ANCHORS IS 1 3/8" FOR ELCO PANELMATE ANCHORS IS 1.3/4”,
AND FOR CF TAP-GRIP ANCHORS IS 1 1/4".

A.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO EMBEDMENT INTO STUCCO
SHALL BE PERMITTED. 1/4"9—20 SCREWS USED SHALL BE 1 1/2” LONG MINIMUM SHOULD STUCCO EXIST, AND 1"
MINIMUM FOR WALLS WITH NO STUCCO.

A.3) MINIMUM EMBEDMENT OF 1/4"¢ x 3/4” ALL POINTS SOLID-SET ANCHORS SHALL BE 7/8" INTO THE POURED CONCRETE.

NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4" #-20 S.S. MACHINE SCREW USED SHALL BE 1 1/2” LONG
MINIMUM SHOULD STUCCO EXIST, AND 1” MINIMUM FOR WALLS WITH NO STUCCO.

A.4) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOOR,
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE SHALL BE AS
INDICATED ON NOTES A.1) & A.2) ABOVE.

EXISTING CONCRETE BLOCK WALL:

1/4” # TAPCON ANCHORS AS MANUFACTURED BY LT.W. BUILDEX. (REGULAR OR 410 S.5.)

— 1/4" @ CRETE-FLEX SS4 ANCHORS AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS.

@ CF TAP-GRIP ANCHORS (BERTHA STUD—CON), AS MANUFACTURED BY TRU—-FAST CORPORATION.
@ ZAMAC NAILIN ANCHORS AS MANUFACTURED BY DEWALT, INC.

@ x 7/8” CALK—IN ANCHORS OR ELCO male & female “"PANELMATE” AS MANUFACTURED BY DEWALT, INC. AND
ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY.

- 1/4" # x 3/4” ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY.

(B) 10

NOTES:

B.1) MINIMUM EMBEDMENT OF TAPCON, ELCO PANELMATE, CF TAP-GRIP AND CRETE—FLEX SS4 ANCHORS INTO CONCRETE
BLOCK UNIT SHALL BE 1 1/4%; 1 3/8” FOR ZAMAC NAILIN ANCHORS.

B.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT INTO SsTucco

SHALL BE PERMITTED. 1/4"#—20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1%
MINIMUM FOR WALLS WITH NO STUCCO.

B.3) MINIMUM EMBEDMENT OF 1/4"¢ x 3/4° ALL POINTS SOLID-SET ANCHORS SHALL BE 7/8" INTO THE CONCRETE BLOCK.
NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4” #-20 S.S. MACHINE SCREW USED SHALL BE 1 1/2” LONG
MINIMUM SHOULD STUCCO EXIST, AND 1* MINIMUM FOR WALLS WITH NO STUCCO.

B.4) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL BE
LONG ENOUGH TO REACH THE MAIN STRUCTURE BEWIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES
IN B.1) AND B.2) ABOVE.

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SFECIFICATIONS OF THE ANCHOR'S
MANUFACTURER.

7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 1 THRU 16 (SHEET 3 & 7
OF 15) EXCEPT THAT HEADERS 2, 3 & 4 SHALL NOT BE USED.

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE

ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME
BUILDINGS.

§. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH
THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENGTH.

10. STORM PANEL INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING
REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

11. (a) THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFi ORMATION
FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS
PRODUCT BASED ON THIS P.E.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON
THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR’S RESPONSIBILITY,

(c) THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL
BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER

USE OF THE P.E.D. ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL SUBMIT TO
THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(e) THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD
THAT PREPARED 1IT.

SECTION 1709.9.3 OF FLORIDA BUILDING CODE. ONE LABEL SHALL BE PLACED FOR EVERY OPENING. LABELING TO s

12. SHUTTER MANUFACTURER’S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT STORM PANEL IN ACCORDAgﬁ{.&%F'I‘
4y
SECTION 1709.9.2 OF THE FLORIDA BUILDING CODE. A { / &

\\\\\\\;‘e-" K ’
S OCENSE
o < MNo.44167 |
=X *
7 Zoo.  STATE OF
THIS DRAWING SHALL ONLY BE USED TO % ﬂ/f%-._ Aok -
OBTAIN PERMITS IN THE STATE OF FLORIDA 0 .'5;"'-(-)-6-‘""'5'
”’I’ S/ O \_E$\‘1

\)
Mosggpppant™

FLORIDA BUILDING CODE (lilg_h Velocity Hurricane Zone)

©2020 TILTECO, INC. 0.050” BERTHA ALUMINUM STORM PANEL MP
(2.25” DEEP) DRAWN BY:
EASTERN METAL SUPPLY, INC | e
"_ E c o INC. 4268 WEST ROADS DRIVE DATE:
TILLIT TESTING & ENGINEERING COMPANY WES;HZ#: é?:c)'sts.ﬁ'sog‘m
s i R ST 1 e Fax: (s61)588-4780 20-156
WMEP?AATD!IJTgfI; 13r _ REV. WO DESCRPTION DATE | REV. No DESCRPTION (73 ORAWING No
FLORIDA Lic. # 44167 ! XD 177100 17/%/3080 : SHEET 1 ©OF 15




J.000" Max. 2.560"
| 15.119" (TOTAL WIDTH) 9.119" (TOTAL WIDTH) 2560 1 A, » ‘J;—z.sso'—-‘
e, >
12.000" (EFFECTIVE WOTH)————————| [—6-000" (errECTVE WOTH)—| F]é . k / o . y - P
. AS APPLICABLE(TYp.) | . . . . ' P 2 &L 8 3 8 $ o [
ir.soa . ® A 1.500 | - 1.5;70 | 1.500 - 15007, Ry |l e \ > R S
: st 47 i . T (F 1 E2) I
i | | . Y 8 ] Q}"' W E 2 —H-—.IZS' s —-.075"
8 85 8 2% o 8 T : " N L .
Q ) B Q LB " Iy I
: ~ o = o | —.o7s" “+ 38 —|--075" T S8
| | [ ke N 075" —{|— o |
I—-z. 125~ ! 3.875" ! 2 125'—' b-z2.125"—| L 4 - Lz..m'-
2.340° - e,
2.681" 2.340 “.
(1) ALUMINUM_PANEL ALUMINUM _HALF PANEL 2er” ;

O o 1780 1 @ _“U” HEADER

SCALE : 3/8" = 1° SoALE - /8" = 1
380"~ - 093" .

. .= L 1/4" ¢ 5. S. STUD
s B, ol , 188 g N r RIVETED T0 ANGLE
Baadh 25 1.25" Mox. | j—g © SPACINGS SHOWN

1l 7§, 500" Min. % | L & [ ON_ SECTIONS.
3 T 15 T— 8 [.
' he :r_[g : = ;
g 3 % = fo = ALTERNATE
2_ : 2 L go5" = LEG LOCAHOTX'
|- .0s3" | : Za Y — T ‘ e —
thso'——-l

© ZF" IRACK €A 1 1/4" MAX. B. O, @ REVERSED “F* ANGLE TRACK @ “F*_IRACK ANGLE

PO SCALE : 3/8" = 1* SCALE : 3/8" = 1
SCAE : 3/8" = 1* F~ TRACK .
SCALE ; 3/8° = 1° R §
- il — (3) 5/8% HOLES :
.750 . PLa AT TOP LNE | $
091" —] .750'|.__/-1R/’;Er‘m$.705.m$% |I l
eSS up TP —”‘ s/ & 0 12° 0C. i \ " =
01270 C \r x L/ i S A\ - —— - -8
[ ALTERNATE -
N 3 L6 Locanon | —[
N _: \ [ r 8 . (2) 5/16" HOLES N
J_ DEAL 1§ \ . g © 8 AT BOTTOM UNE = hg
darl ' : *‘ e i T
- e -—-—_—-——"——"—"—"——"—""""—"—"""—~-"—_"—"—"1 X I ] =N
sl o T ‘ ] B B scnfvi TAPCONS B _J frs
- ” (ax,) I ? -_1_ [ ge0” or 0s0
|
ANGLE WITH STUD el ] - - DETAIL 1: st w/ e cast zme
SCALE: 1/2" = 17 — 14” | NICKEL PLATED WING NUT \\\\\\\\“R‘”.;"'m,,”
o gn SGRA T,
(1)-3/16"x7"x14" LONG WALL PLATE SSEUCENG
/_,__m.r‘& SCALE: 3/16” = 17 g w2
' 3 (a_cé%m. 44167 z
% ' zx * g
i = ’)/r t/«é,—%; STEOF o §
v.625° ?_I ”%’O,é'-,fLO Rm?‘\é‘"\\\‘
957 - @,GS‘S"""" @cﬁ o
Y - e, /ONA\-E -
e - o "t
¢ exoo (0PTION TO 12) t3) KEY HOLE WASHER FLORIDA BUILDING CODE (High Veloclty Hurricane Zons)
SCAE ; 3/8" = 1 ©2020 TILTECO, INC. 0.050” BERTHA ALUMINUM STORM PANEL mp

OPTION 2 (2.25” DEEP) DRAWN BY:

LBV HOLE AT DANEL | I . . EASTERN METAL SUPPLY, INC 7/4/2020
@ / IL E C O INC. \ 4268 WEST ROADS DRIVE DATE:

WEST PALM BEACH, FL. 33407
TILLIT TESTING & ENGINEERING COMPANY PHONE: (561)533-6061
N.W. th. SE., e.

e (Jasja71—'135§“d .ngN.{A(Jos)an-rgerwe FaX: (561)588-4780 20-186
CO ONEN TS CA-0006719 REV. NO DESCRIFTION DATE | RV, Mo DESCRIPTION AT DRAWING No

WALTER A. TILLIT Jr. P.E.

FLORIDA Lic. # 44167 : C.oala PR 1t s : SHEET 1A OF 15




TOP TRACK
(SEE COMPONENTS, SHEET 1A OF 15)

-A;" | CONCRETE ANCHORS (SEE SCHEDULE) ! ' A;”—-
ax. [ ax.
1 Min 1 Min.
1
° o o o o
rrTYT|—oa - TrTTTT o1 T T YTty Tl T T oIT,aaTTTreYrTTITT T TTTTrOrTTa T T TYTTTYTTTTTrTrhT T TTIIT T T T T i i e s Hnuu S S S |
[ { | | I | | | I I 1 [} | | ] | I | | | [} | | | ] .[ ! ] | | 1 1 ! | f I I ] | 1 | 11
'|
| | ] ‘ | I
| | | 2
.a\ | -"IW \v | A I "'v L
A | A A A A o
| ] | | o
|
‘ | (,)
| | §
[ [ 1 | i ! w
| Y. | | §
|
|
| l | | Iy
r | | S
| 1%}
| | L
| | | (\I]’
' |
| | : ':E
2
Y]
|
i,
%
Q.
I
-J

|
@
;
:
|
-
I

__________________ ———b— -1 e
| &

e 37 CONCRETE ANCHORS (SEE SCHEDULE) ! 37 -

Max. Max.

1 Min. T Min.

\\\““““"‘M”

— BOTTOM TRACK

STORM_PANEL TYPICAL ELEVATION (SEE. COMPONENTS, SHEET 14 OF 15)

SCALE : 1/8" = 1”

ﬁ r7/4" Mox. GAP (M /4" Max. GAP ”1 -
NN L N

/ﬁs\ / \ F\ / \ /B:G\ j/ \ /‘ﬂ!\ /m\ /@\ / \ / ‘ i\ FLORIDA BUILDING CODE (High Velocily Hurricane Zone)

©2020 TILTECO, INC, 0.050” BERTHA ALUMINUA_I- STORM PANEL MP
(2.25" DEEP) DRAWN BY:

Tiileco - \ | FASTERN METAL SUPPLY, INC | s
SECTION A —A / IL E c o INC \ 4268 WEST ROADS DRIVE DATE:

WEST PALM BEACH, FL. 33407
TILLIT TESTING & ENGINEERING COMPANY PHONE: (561)533-6061

SCALE : 1/8" = 1" 6358 NN Jebh Si. Sk 0o, WA GRS 1 33188 FAX: (561)588-4780 20-186
CA-0006719 REV. N0 DESCRIPTION DATE | AEV. Mo ‘DESCRITION e DRAWING No
WALTER A. TLLT Jr. PE. TR T

FLORIDA Lic. # 44167 ; =

SHEET 2 OF 15




N Cont. N \
N e AT
CONCRETE ANCHORS N ?So&cg%vﬁé_gggms \Q ' | ((:gEEC @?ﬁfgﬁfg‘m \\\ 7 \ % 7
(SEE SCHEDULE) : X L1 1125 | _NE /_@ bant ~_NJ§ Cont.
— L oo = _%f, | = —Q":I 500" (250" TN H 500" / 3 |.250°
N\ i B k Max. \\ ! L ) Max N t ( Max.
= | n S N | - POURED < | | SOURED q o | I
_ POURED : . W W
Concrere N | 1 concrere NI | 223’5,’};%2‘\ N\ | 2235%5\ \S | |
(b | (o R I = O T SEENNNN\ | PARAAT R I
] B : | L | N B
e © s || y N ¥G ol
n. (|
5 70" LSS 3 L—sﬁf"‘sﬁ%ﬁ“’—- R Lsﬁn.s%*g‘;ﬂ%ﬁ%‘vm—- y
| [ | & ‘ ‘ [ { § TO GLASS | | | w TO GLASS | I | §
Al | | - e b | A P ; | A N 3
- — ¥ | VT > v — 3 - v —— 4
| . g ( ] | -
SEE SCHEDULE FOR |_ ’ | ‘E 1/47 9-20 x 3/4" ‘ ‘ § f l I 3 ‘ ‘ I 5
M e BOLTS W/ 7/8° x l ‘ o | b g
| ‘ ‘ § 3/32" WING NUT © | 2 L ‘ ’ |
2 12" 0. C. | , & R | } ’ x 708" x 3/32° g
| | : " o— 4" &
S R R IR .74 I & A\ ol
_ g . 12* 0. C. " ‘ b
_//;/ " / / "/ // | | ‘ % / D-/ff . /// ’ I 1 / ///// "/’/ / | | E D_/ 7, / @_*| : ;
= POURE ; 1 :
s A e ] B L w7 I § mml |7
erg e el o1 T L -
REQUIRED A || REQUIRED || REQUIRED . | |—® reogken -1 4 I ’fs'
' L | —— —
_h =="4 / 500" =
VZ i - T T == ] = L ek
il (N /_7 1/4" 9-20 M. S.
wgan P2 B o CEs ] e o =N e
Cont. 4 A
on ‘ /;

WALL MOUNTING INSTALLATION

SECTION @ ANCHOR SECTION 2 soue + 3ym o 1" BUILD OUT INSTALLATION BUILD OUT INSTALLATION
: "\' | : I SECTI N 3 SCALE : 3/8" = 1” im SCALE : 3/8" = 1*
o :
=
| a “mmmm,,
X \\\\ 'I[,
| O § \\\\\“‘\, RAM( /,\'”r,,,’
SN S A S | | | a8 SNNCENg %
POURE] / 5 £0= fggg SCHEDULE. ON S E
s concrere | | 7em e 32 & SHEETS 10 & 11) £ i 44167 3
y O CONCRETE e mite 3 : 3 &
BLOCK WALL - rEary oy o = 3
REQUIRED /./ _‘ @ 12" 0. C. '%J 7// 4/ /L?@ STATE OF $ §
75 " %% LORDP S
8 % fareeeat sy
/ 1.125" | T I”l;, ‘S:/ ONAL E‘“ -
I J (4 i
_ NOTE FOR COMBINATION OF SECTIONS : e
/] AL MOUNTNG SECTIONS O BE FLORIDA BUILDING CODE (High Velocify Hurricane Zone)
/s Cont. COMBINED I ANT WaY T8 SUIT ANY dNSTALEATION ©2020 TILTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL M.P
SECTION @ STUD (2.25 ” DEEP) DRAWN BY:
WALL MOUNTING INSTALLATION / Tilkkco . \ EASTERN METAL SUPPLY, INC | wwzm
SCALE : 3/8" = 1" INC. 4268 WEST ROADS DRIVE DATE:
mz TILLIT TESTING & ENGINEERING COMPANY WES;HZ:IL: :5?5?3&50%31407 20 , 8
NOTE : DETAIL OF SECTION @ STUD VALID ALSO FOR Prons (3086771933 . Fox ¢ (SONETI=1a31 o0 FAX: (561)585-4760 ~186
WALL MOUNTING INSTALLATION — SECTION 2 (TOP) w&m?[o%f%'gr PE v, wo oEscaTION | _REV. Mo DESCRIETION ATE DRAWING No
FLORIDA Lic. # 44167 ! b 17100 . owdo, 2 SHEET 3 OF 15




CONCRETE ANCHORS
(SEE SCHEDULE)

i
l
I

"OURED W
ONCRETE

FEQUIRED
AT

N
:\\' /-.Cont

: 1/4” #-20 S. S. MACHINE
\E géL;é w/ NCUT & WASHER
\\_ [ 7" . MI;).
<N j S |TS X
NEL h 3

L8 )

§ l\\ 1
N : |
N\ | |
\‘ i ' Contl.

o

b

&

SEE SCHEDULE FOR .

Min. SEPARATION o

TO GLASS 2

W

| 5
n

A v

| ¥ : 8
1/47 8-20 x 3/4" S

| goLts w/ 7/3/ | S
3/32" WING NUT | &

| 6 12" 0. C. | =~
| g

ALTERNATE g

| LEG  LOCATION [ <
| l $

Ve
POURED—/

CONCRETE S
OR CONCRETE

BLOCK WALL ]
REQUIRED

h
"
|

AR
|

CONCRETE ANCHORS
(SEE SCHEDULE)

T T ‘
1" Min.
 —1" Min.
1/4" 920 S. S. MACHINE

BoLT W/ NUT & WASHER
@ 12" 0. C

BUILD OUT INSTALLATION

- SECTION 5

SCALE : 3/8" = 1"

SHEETS 10 &

E D. = EDGE DISTANCE
(SEE SCHEDULE ON

11 OF 15)

NOTE FOR COMBINATION

OF SECTIONS :

COMBINED IN ANY WAY

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE

TO SUIT ANY INSTALLATION.

CONCRETE ANCHORS | £ D \
(SEE SCHEDULE)
POURED CONCRETE \
REQUIRED \
AR RRRRRAY

A

Min. SEPARATION [~
TO GLASS |

|
!
—®
l
|
|

WING NUT ®

@O— ~—T6 25 ¢

7/8" x 3/32"

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

“SEE SCHEDULE FOR
|
|
|
|

L/ AL Ao | W/ A S
POURED CONCRETE |J["" /
REQUIRED |

CONCRETE ANCHORS / E D
(SEE SCHEDULE) A

CEILING & FLOOR MOUNTING
INSTALLATION — SECTION 6

SCALE : 3/8" = 1"

CONCRETE ANCHORS
(SEE SCHEDULE)
!

POURED CONCRETE
REQUIRED

lALTERMTE
LEG LOCATION

1/4" 8-20 x

3/4” BOLTS W, /

’ 7/8" x 3/32/
WING NUT @

‘ 12" 0. C.

|
|
|

SEE SCHEDULE FOR
Min. SEPARATION
| TO GLASS

I 1/4" 8-20 x
3/4" BOLTS W/

| 7/8" x 3/32
WING NUT ©

Max, PANEL LENGTH (SEE SCHEDULE, SHEFT 9)

POURED CONCRETE
REQUIRED

CONCRETE ANCHORS
(SEE SCHEDULE)

CEILING & FLOOR MOUNTING

INSTALLATION — SECTION 7

SCALE : 3/8" = 1"

CALK—IN OR ALL POINT SOLID-SET \|
OR ELCO male/female
PANELMATE OR CF TAP—GRIP N)
(SEE SCHEDULE) 1
o b
T | f
}% |
POURED N : :
CONCRETE G
OR CONCRETE . N [
BLOCK WALL \ | |
REQUIRED Q L
ANAASAVANRRS o
| | | J
’ | | |
I [
| | [
| I
‘ | | |
ﬂ' | | ]
. T T 1
| oo
| | o
[ | |
_'SEE SCHEDULE FOR | b
Min. SEPARATION [~ | f
7O GLASS | | |
| | I
| [
P /:/7/ 7. ////,' o
POURED ys : :
CONCRETE & /)
OR CONCRETE | [
BLOCK WALL W 94 [ |
REQUIRED / | |
_ | |
== ! |
7 b
/ ? |
CALK~IN OR ALL POINT SOLID—SET
OR ELCO male/female /

PANELMATE OR CF TAP—GRIP

(SEE SCHEDULE)

WALL MOUNTING INSTALLATION (D. M.)

— SECTION &

SCALE : 3/8" = 1°

”’/1 S/ O N A\- E$ \\‘\\

irgge™

FLORIDA BUILDING CODE (HI h Velocily Hurricane Zone)

ey,

Mox. PANEL LENGTH (SEE SCHEDULE, SHEET 9)—

BN
~

I/’
"\

»,

©2020 TILTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL uP
(2.25” DEEP) DRAWN BY:
EASTERN METAL SUPPLY, INC 7/9/2020
"_ E c o INC. 4268 WEST ROADS DRIVE DATE:
WEST PALM BEACH, FL 33407
TILLIT TESTING & ENGINEERING COMPANY PHONE: (561)533-6061 20_ ’ 86
-~ A (305)871—1% VRoNA (30% fasi e FAX: (561)588-4780
WALTEIgAA—OJQIgfI; 'Zr pE oV, N0 DESCRIFTION DATE | RV, Mo ossCarN oATE DRAWING No
FLORIDA tic. # 44167 - KD 17-100 _17/0/2020 - SHEET 4 OF 15




CALK—IN OR ALL FOINT SOLID-SET OR

_ _ ELCO moale/fernale PANELMATE OR N
Lk ,’,’:’a,f/kffrf,ﬁ,:%ﬁxgz%% e ELCO ZZ;iffi’QZii PANELMATE PLUS CONCRETE pNCHORS \ E D 3
ELCO male/female PANELMATE PLUS /8 14;77423 ggl%% i&%’ ggL 7@+ . . (SEE SCHEDULE) \ N
— = N
co”g;_.";mséﬂgggg 1 ;1;425-%0 E%ﬁs"(si&g g&rﬂ + (SEE SCHEDULE FOR SPACING) CONCRETE ——, i— 7[ \
. (SEE SCHEDULE FOR SPACING) [T7/8% x 3/32 REQUIRED —ro.— e \
) — 5 \ /  ¥NG nis e 127 oc. . . ON
N L [ , \ f— AENNNNNNRNNNNNRY \
| _ B | = = o | |
POURED = | l = ! l | T oo '
CONGRETE W : : \ : l N | | |
REQUI .
N 1 | ; N | 3 | N Gl
NN\ \\ NN i | S W | l | |
a - POURI L . POURED L |
[ | | COnOURED N | CONCRETE | ! o
| | REQUIRED N | B TR { :__(D o | I O,
0 Wy 1 ANNARN RN L 5
| O * @ s | . B | | o &
EXISTING R | [ T o
oass | | | 5 o § | ok % | | | ¥
__ISEE_ SCHEDULE FOR :_ : } S . : : o | b 3 : : : g
M:n.T()S‘EgLA;qRQSWON I - < SEF SCHEDULE FOR | o g SEE SCHEDULE FOR |_ [ @ I_Stn'inscsﬁé_g%ﬁsﬂ c;}/;n N L 3
l I L 3 Min. SEPARATION |— Lo 8 Min. SECARATION I 3 TO GLASS i Lo ¥
8 70 GLASS ¥ | L 3 L &
| [ | I S i I | a A i | i & ] | | w
AL | o I A [ W N 2 Y—T — &
| v ‘ 2 | A 1 g ' ) z | N
2 | Q |
1/4" 6-20 x 1° SSMS. | | * 1/4" 620 x 1" S.S.MS. . S l | I § l | : : Q
W/ 7/8° ¢ x 3/32" | ' 3] W/ 7/8" @ x 3/32" . . & | oo o 3
wine 'nur @ 127 0. ¢ | | | 5 wine'NuT @ 127 0. ¢. | | [ 4 ‘ | o g | | : : »
|
: | : | E . | : : g 7/8" ¢ x 3/32" | | Ff_ I | | §L
| I g N . - | very s || b $ 7/8" ¢ x 3/32° | . 5
: N . ' | | o § © 12" 0. C ] | |.._<:> WING NUT ©—, | =0 =
: / | [ § GV III" . [ 3 l \ [ ’ EVERY STUD |
/ /_// 2 || l l"_@ S < | | I-—-—(:) 7 /,//,,;,|\ | ' ® 12° 0. C. L
POURED | POURED . | ! f I\
o A1 1 e | o, | 7 A N
OR CONCRETE /] | | o OR CONCRETE I OF CONCRETE i “Al ‘ fo—|
BLOCK WALL s A || I BLOCK WALL | R ;/ ' . cont. | I
REQUIRED W /4 | | I REQUIRED | [ REQUIRED o / I I | ALTERNATE LEG 3, f ] |
' I o = 8. : | ——LOCATION & | |
| | J | 7 . - =_il, | !_EI_,'_?]____-{_‘:' T
5T, CONCRETE ANCHORS -
%E . \ bl (SEE SCHEDULE) : - S ANV S S A S S S S S S S S /Lt[
27 B = — 2 L e
CONCRETE ANCHORS J 7 CONCRETE ANCHORS Cont. L REQUIRED idec
(SEE SCHEDULE) \ (SEE SCHEDULE) / f
\ s CONCRETE ANCHORS en
Cont. (SEE SCHEDULE)
WALL MOUNTING INSTALLATION WALL MOUNTING INSTALLATION WALL MOUNTING INSTALLATION CEILING & FLOOR MOUNTING
SECTION 9 SECTION 10 SECTION 11 INSTALLATION SECTION 12
SCALE : 3/8" = 1" SCALE : 3/8" = 1" SCALE : 3/8" = 1* SCALE : 3/8" = 1"

“\HNHIII“"'

‘\\\\ @R ATy / 7‘:”’,

E D. = EDGE DISTANCE

(SEE SCHEDULE ON FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

SHEETS 10 & 11 OF 15
/ EID; WALK BOLTS ARE 3/4°0x3/32"THICK ©2020 TILTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL MP
@x, :
HEAD MACHINE SCREW W/LENGTH (2.25” DEEP) DRAWN BY:
NOTE FOR COMBINATION OF SECTIONS : AS PER NOTES A2 & B.2 (SHEET 1) E ASTERN METAL SUPPLY |NC 7/9/2020
H
WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE TRUSS HEAD BOLTS ARE . (2e1/8THIOK I"_ I ECO . 4268 WEST ROADS DRIVE DATE:
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. HEAD MACHINE SCREW W, WEST PALM BEACH, FL. 33407
AS PER NOTES A2 & B.2 (S‘HEEI' 1) TILLIT TESTING & ENGINEERING COMPANY PHONE: (561)533-6061
Lol FAX: (561)588~4780 20-186

Phom (305)877—1530 Fax : (.;.0‘56)%1531
CA-0006719 ”V. Mo DESCRIPTION DATE | V. Mo DESCRPTION BATE DRAWING No

WALTER A. TILLIT Jr. P.E. =
FLORIDA Lic. # 44167 ! QD r7-100 17/yaasal ; SHEET 5 OF 15




CONCRETE ANCHORS -
CONCRETE ANCHORS
(SEE SCHEDUU:')'\ 3 (SEE SCHEDULE)
o \\_EXISHNG =-<f—~ ¥ — 3 .
1 1/4" MiN. BRICK VEENER N\ i . NE — T %g
PENETRATION TO N
CONCRETE BLOCK |, N | ‘ f N
& 2" TO CONCRETE |’ G N [ U f '
b | POURED W N [ 5 I -
CONCRETE —. | | | POURED W | (.
a l . 0 REQUIRED . ‘ | L Cont. CONCRETE —, | [
. . . Y REQUIRED  ._ ¢
el 4 Cont. 83 Wi | | | | B
; £ &3 I | | D NN | |
; . g | \
5 . 4 .’4 R\ | | I ; | bl
o e | ; : l L ©) e/ : : : @
IR . [ vl | | E Fycs _l SEE SCHEDULE FOR | . =
/ I P | [ [y Min. SEPARATION | o 5
/ I __] SEE SCHEDULE FOR | L z | TO GLASS | L §
, ]
| | in. W | AL | | U
_ 7 : ‘ : o cuass | : : 3 : A - 3
a 1/4"0x8" ELCO mole S
O oonD, CONCRETE L nart s arecrons L A . | ! | 5 | @—\ ! : 8
WALL REQUIRED I (SEE SCHEDULE FOR SPACING). AS APPLICABLE | | | A | | 2 I | S
I ] . L L@ T VT I i | beman 2 o o
¥ | | | | L 8 | 1 | i
[ ] /\/ | /\’ 1/4” #-20 x 17 S.S.M.5. | | ' z | . | l v
W/ 7/8" ¢ x 3/32" - & -
T /\/ /\/ wﬂc /NUT 'y 124 o c ’ o g | § L E
| SEE SCHEDULE FOR L | L 4 I T - 2
= —————  Min._ SEPARATION —= L | I & | 4
TO GLASS o ' bl 2 1/4" #-20 x 1" S.SMS. | o
| [ S [ | [ & W/ 7/8* ¢ x 3/32" Lo 2
\\ | I i': | | | . WING N|UT e 12" 0. C lf Lo T
| L S S A | [ 0 s %
% = ra v av s 7/ Ve I | | o
Z= = EXISTING { : : 5 POURED 7] | : : — |( [ N
/ - BRICK SILL g CONCRETE 7 ) S Y ey } | | &
= = T [ | (. g OR CONCRETE ! I 7 —®
/ 1/4" 0-20 x 3/4" b a BLOCK WALL 5 i [ POURED | |
) A |
. = BOLTS W/ 7/8°x L % REQUIRED G /) | ‘ | CONCRETE 7 ' '
| |- 3/32" WING NUT © —— $ : OR CONCRETE | |
| | 12" 0. C. . - [ BLOCK WALL | Lo
| ! b [ REQUIRED v 0 | o
| ! | | | { ™
: 1 1/47 MIN. : I | I - | /:“E : : N
‘ PENETRATION TO XISTIN | | | CONCRETE ANCHORS Mg
| ST e | O (o senEoue) 1. N/
| . | : | : CONCRETE ANCHORS 7 _r-375' N
: T (SEE SCHEDULE)
: : N I o / INTERIORLY REMOVABLE PANEL D)W/ =
. AN | . 6 SIDEWALK BOLTS (SEE DETAL 2)
| f | | Cont. CONNECTED T0 (1) THRU 5/82
! L HOLES AT éo 6" O.C & FASTENED
, AT REAR W] 7/8°0x3/32" WING NUT
| o SECTION 14A SECTION 148 f &R’;/smm g
' 7] o 3 o
| \\ R L sy,
| Gont ' WALL MOUNTING INSTALLATIONS «ﬁ..-------.‘.{/“/’,,,
| ! ‘ g . 2
' M . Z
| osrwe SECTIONS 14
L grick N LT
d_,‘_‘——"ﬂmﬁ_._.‘_— —-——“\‘_—" ““h-—.._____ VEENER SCALE : 3/ 8 1
POURED CONCRETE \ 1/4"0x8" ELCO moale
L . INSTALLATIONS VALID FOR PANELS (1) USED JOINTLY
WAL 'SEE SCHEDULE FOR SPACING).
WITH INTERIORLY REMOVABLE PANELS
BUILD OUT INSTALLATION o
e e . E D. = EDGE DISTANCE FLORIDA BUILDING CODE (High Veloci ”m‘m.‘&»e Zone
(SEE_SCHEDULE ON g
SECTION 13 SHEETS 16 & 11 OF 15) 02020 TLTECO, NG 0.050” BERTHA ALUMINUM STORM PANEL wr
SCALE : 3/8" = 1" (2.25” DEEP) DRAWN BY:

NOTE FOR COMBINATION OF SECTIONS : / ILIECO imc. \ EASTERN‘Z! Ewl'sél;mglngLY, INC 7/o/2020

WALL MOUNTING SECTIONS CAN BE WEST PALM BEACH, FL. 33407

TILLIT TESTING & ENGINEERING COMPANY . —
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. 305 KW, 60, b S e R COMPANY, i (561)535-6061 20-186
Fhone  (305)871-1530 . Fax : (305)871-1531 AX: (561)588—-4780
WALTEI?AA_O%LGI; 73 PE REV. NO DESCRIPTION i3 REV. No DESCRIPTION ATE DRAWING No
. r. ol =
FLORIDA Lic. # 44167 : (Rl I > SHEET 6 OF 15




, N CONCRETE ANCHORS CONCRETE ANCHORS
CONCRETE ANCHORS |~ E D. CONCRETE ANCHORS E D Y (SEE SCHEDULE )™\ E p— > (SEE SCHEDULE )\ ~
(SEE SCHEDULE )™\ | (SEE SCHEDULE )\ N \, \.
| WCRETE CONCRETE N
POURED CONCRETE POURED CONCRETE CONCRETE N
REQUIRED = REQUIRED § REQUIRED —\ 2 REQUIRED \ \\\\\
\‘\ e | NN NN N\ \ N .
! |
|

lSEE SCHEDULE FOR
= Min. SEPARATION
I T0 GLASS

l SEE SCHEDULE FOR
=~ Min. SEPARATION —

I
|
I
|
|
7O GLASS I—- Min. SEPARATION —|

T0 GLASS

Min. SEPARATION

I
|
|
|
|
I
|
SEE SCHEDULE FOR |
I
I
|
[
|
I
|

|
|
|
|
_'SEE SCHEDULE FOR
|
|
|
|
|
|
|
|

| I
| I
| [
| | |
= ! I |
& | & | & b
& ! L | oo
G
« ! 4 , 4 | S
] X
TO GLASS 8 | T ) ! | 2 [ N
" ¥ | | & o 4
3," l a | | 8 | A | J 3
h! hy I I fr I I l : T 4 T T g
" 5 ! - a . A—L | & | DETAIL |2 | &
| & | | = r \ : I < ! o
-~ | L X ! | [Py
| - | | g I o 5 I » | o
| -® g | | | g | | | g T o z
| £y | | o | I o | , I 2
I 7/8" 8 x 3/32" % I ! I 2 | ! Lo S | I 3
| e wr e S an—|| . ¢ 7/8" 8 x 3/32" | . ¢ | | L g
| A S/E;?ZY_ Sgulé l N : : I 3 | WING NUT &—, | Lo § @ | . g
@—yg T | | 78" 0 x 332" every sTb | O . | N | .
Cont I | I L wive ot @ | ¢\ I | | |*® g
1 | | | _A"EVERY STUD h I J I 7/8" 0 x 332" || Lo
: | .~ | e1270 c 1 WING NUT @—,
i ! | A | I | every stp \ | | I
x ' I N~ Cont. o ® 120 ¢
- 3 I (I
e - e I cont J—E ! b I ALTERNATE LEG - ] | P
SIS S /// /I’)l’r,/ 7 /// ,// EDGE OF iy I ~ ;'—LOCATION Q | | l @_' | |
POURED CONCRETE - 7 A=—SUAB IF I S | i = | 4 oo _ = |l : T Cont ] P @
REQUIRED i A appLICABLE R 97, /I y o ' oy L~
/ - p < S SV IS dddddddids EDGE OF TERNATE LEG ==
concrere anchors | E D. s kAR // o !/// d6ddedd/, K- ¥ 1 / I( :IV s | LOCATION & | \I\
(SEE SCHEDULE ) A f;ggggz_ocorvmm I ] 1" '_%3, c{: BLE I APPLICABL s JJ L g = S
CONCRETE ANCHORS 7 " Lo concrere ancrors /| I 7z iz
(SEE SCHEDULE ) E. o.ﬁj J REQUIRED ™" (crr SCHEDULE ) ED ——I I I :,lL, =5
INTERIORLY REMOVABLE PANEL (DW/ N CONCRETE ANCHORS _/
SECTION 15A SECTION 158 SIDEWALK BOLTS (SEE Dﬂgl% 2) = i ~ (see scHeoue )~ b
CONNECTED 70 (1)) THRU 5/8” £0.— ‘
L R M HOLES AT (1) @ 6" O.C & FASTENED
CEILING & F 00 OUNTIM_G INSTAL_LA TIO—.-—-.NS AT REAR w§;7{.3;;);3./§?02£wﬂNGBA0’U; SECTION 16A SECTION ’65 INTERIORLY REMOVABLE ggNgEL_’_@WZ/) .
K BOLT. SIDEWALK BOLTS AL
SECTIONS 15 CONNECTED 70 (1) THRU 5/8"%
SOHE : 35" = 1 CEILING & FLOOR MOUNTING INSTALLATIONS 547 (Do 5" ot & ot
1875~ 1/4"=20x1" S.S. SIDEWALK BOLTS, SECTIONS 16 % CVERY SIDEWACK EELT.
@ I-—I W/3/4" SLOTTED HEAD, FIXED To. SCALE : 3/8" = 17
[ INTERIORLY REMOVABLE PANEL
\—-»- / THRU KEY HOLE (2 © 6" O.C. @

AT ol L IR wonae INSTALLATIONS VALID FOR PANELS (1)USED JOINTLY
Al ‘ . WITH INTERIORLY REMOVABLE PANELS Q

s

FLORIDA BUILDING CODE (High VelocHy Hurricane Zone)

[
I
|
|
|
X
[
I

.
.
\)

. L ”,
S0 EN3€--.‘4;> % 02020 TILTECO, INC, 0.050” BERTHA ALUMINUM STORM PANEL e
E. D. = EDGE DISTANCE S 7 he RN (2.25" DEEP) DRAWN BY:
G e o S ¢ No.4d167 : % ' '
. z S EASTERN METAL SUPPLY, INC 7/9/2020
5 * ik 2 ILIECO 4268 WEST ROADS DRIVE L
» \_1/4" HOLE © 6° O.C. = 3 INC. WEST PALM BEACH, FL. 33407
] —050 NOTE FOR COMBINATION OF SECTIONS : = TATE OF é’t | TLLT TESTING & ENGINEERING COMPANY PHONE: (561)533-6061 20-186
DETAIL 2 — INSTALLATION OF 1/4%x1" - ONe oA B Y wf?ﬂ FLORION . [ B S T e 2 Fax: (581)588-4780
I -
FLOOR/CEILING MOUNTING Si E 2, <“,5~ \Q S CA—-0006719 — T T e o DRAWING No
SIDEWALK BOLTS © REMOVABLE PANEL COMBINGD INCANI WA IO SUIT AN INSTALLATION: S/ON AL g\\ “\\\ N o L] & B : o 17100 |7/5/2020] 3 T 7 o
SCAE Im= 1T rrrvrees 2 !




ol .

7/4 Max. GAP

@ 1/4" Max. GAP
f”\ TN TN 7N AN 7\

SECTION

B-B

SCALE : 1/8" = 1~
) - 14B/6, _’ 14A/6,
(WHOLE) (WHOLES) 15,16B/7 15,16A/7
BUT NOTCHED 1/4"-20x1" S.S.
g“o #35”55 @ SIDEWALK BOLTS.
| SEE DETAILS 2/7, / @
| lSHOWN. | 2/15 ; / whoLe)
| v | f§ v /
2 B ¥
) _
f I l I g8 Y INTERIORLY REMOVABLE PANEL (DW/
le ) SIDEWALK BOLTS (SEE DETAILS
g L 2/7, 2/14) CONNECTED T0O () THRU
S BB 5/8" HOLES AT (1) @ 6” 0.C &
R A1 b 1 FASTENED AT REAR W/7/8'0x3/32"
= PN B | WING NUT @ EVERY SIDEWALK BOLT.
o | Hije ol [ i]e| ®
2 »
L e @@
_’ 14B/6, +14A/6
15,16B/7 15,16A/7
b 3 e CONCRETE ANCHORS (SEE SCHEDULE) .
Max. Max.
1 Min. 1 Min.

INTERIORLY REMOVABLE STORM PANEL

PARTIAL ELEVATION Y

1/8" = 1"

FLORIDA BUILDING CODE (High Velocilty Hurricane Zone)

SCALE :
gy,
\\\\“\\\"\(’y} ATy, ;”’4«,’
S L%,
S0 ENSg 7P Z ©2020 TLTECO, INC. 0.050” BERTHA ALUMINUM STORM PANEL P
s - Lz DRAWN BY:
z No. 44167 - = (2.25" DEEP) v
= * Pk 2 EASTERN METAL SUPPLY, INC 7//2020
. P 3 "_ E c o INC. 4268 WEST ROADS DRIVE DATE:
Z 9. SIATEQOF & s WEST PALM BEACH, FL. 33407
7//64 2O DL £ ‘8’ 5 oHLLIT TESTING & ENGINEERING COMPANY PHONE: (561)533-6061
”’/ OK‘ . LOR\D“@ § (305)871 ot (305)871—1,;31”’65 FAX: (561)588—4780 20-186
s S8 v O L CA000E719 e [ o | | | sG] ORAWING Mo
%y ””"l::llﬁ::”‘“ W wFLORIDAA.Lic. F 4216‘.75 ; oD 17100 7/5/2020 : SHEET 8 OF 15




CUT PANEL

2" x 4" x 125"
J105-H14 OR 6063-T6 ALLOY
Cont. Alum. ANGLE

CASE A (Plan)

SCALE: 1/4" = 1~

POURED CONCRETE
S OR CONCRETE BLOCK
/ WALL REQUIRED
CONCRETE ANCHORS
/ /' e 12 0. C.

HALF PANEL ]
7" - !
b
T 2.500"
Min.
POURED CONCRETE
[ N OR CONCRETE BLOCK

WALL REQUIRED

2" x 3" x .093" 3105 H~14 OR
6063—T6 ALLOY Cont. Alum. ANGLE
WITH ANCHORS @ 12" 0. C.

CASE D (Plan)

SCALE: 1/4" = 1~

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

2.500" Min.
I-_ 25007

CONCRETE ANCHORS
® 12" 0. C

LL TERNATE LEG LOCATION

2" x 2" x 055" 10 _—"

—

-‘r-_ ________ ———
1/4" ¢ BOLT
® 24" 0. C.
W,/JACKNUT

CASE B (Plan)

SCALE: 1/4" = 1"

2" x 5" x .055" Cont.
Alum. ANGLE OR

.080" 3105-H154 SHEET
METAL Alum. BENT PLATE

4" x 4" x 072"
3105-H14 OR 6063-T6 ALLOY
Cont. Alum. ANGLE

CASE C (Plan)

SCALE: 1/4* = 1"

END CLOSURES DETAILS

i Wy, y
SR Tl 2,
7 No. 44167
: * I
=0 STATEOF ‘g
Yt BB FLomioh EE

”,,,5‘5»6,\\\6\ S
””’I /ONAL E \\“‘

T A

=
AN
>
)
~
=~
-
-
-
-
-
-
=
-
-

MAXIMUM A.S.D. DESIGN PRESSURE RATING (p.s.f.) AND

CORRESPONDING

MAXIMUM PANEL LENGTH 'L” SCHEDULE

MAXIMUM A.S.D. APPLICABLE TO
DESIGN Max. P fN‘fth )LENGTH MINIMUM SEPARATION| SECTIONS # &
PRESSURE RATING ' 70 GLASS ANY COMBINATION
(p.s.1.) (SEE SECTIONS) OF THEM
+65.0, -77.0 8'-0" OR LESS 2 1/4” 1 THRU 8
+65.0, -77.0 9’-0" OR LESS 3 11/16" 1 THRU 8
+65.0, =72.0 | 9°-0" OR LESS 3 172 11
+62.0, ~73.3 | 10’-0" OR LESS 3 7/8" 2,6 7 &8
+63.5, —63.5 9'-0" OR LESS 3 1/2* 9, 14, 10
+65.0, —65.0 9'-0" OR LESS 3 12" 12, 15, 16
+63.5, ~63.5 | 9'—0" OR LESS 3 3/47 13
MIN.
1.50"% - POURED CONCRETE
(REQ'D) )/ OR CONCRETE BLOCK
§<\ WALL REQUIRED
SOV
X=BUILD OUT
DISTANCE

N

\@

CASE D (Plan)

SCALE: 1/4” = 1”

FLORIDA BUILDING CODE (High Velocily Hurricane Zone)

©2020 TILTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL MmP
(2.25" DEEP) DRAWN BY:
EASTERN METAL SUPPLY, INC 7/9/2020
"_ E c o INC. 4268 WEST ROADS DRIVE DATE:
WEST PALM BEACH, FL. 33407
TILLIT TESTING & ENGINEERING COMPANY PHONE: (561)533-6061 20-186
Rl g ol < il FAX: (561)588-4780
WALTE}gA;o?{f;' 73 BE REV. WO DESCRIPTION oA | Aev. o DESCRPTION DATE DRAWING No
FLORIDA Lic. § 44167 L Ob 177100 |7/9/2020 : SHEET 9 OF 15




-
MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2° %

ASD. DESION mu; 7: MAXIMUM PANEL
REGULAR TAPCONS CRETE-FLEX S54 ZAMAC NAILIN CALK-IN SOLID-SET CF TAP-GRIP PANELMATES PANELMATE PLUS 410 S.5. TAPCON ANY COMBINATION LENGTH 1 (R)
RATNG (p.21.) [ ComeReTE| 7o BLOCK | T0 CONGRETE| 10 BLOGK | 70 COMORETE] 70 BLOGx | T0 CoNCRETE] 10 BLock | 1o coNoReTe| 0 Btock |70 coworerz| 7o BLook | 10 CoveReTE| o Biock | 7o conarerz| 7o Bioox |70 concres] 7o aLook OF THEM
8" N/A N/A N/A 4" N/A 8" N/A N/A N/A 5" N/A 3 1/2" N/A N/A N/A N/A N/A 1 (TOP) £ D = EDGE DISTANCE
12" e N/A N/A 10" 7 1/2" 12" 7" N/A N/A 12° 6" 117 8" 12" 7 172" N/A N/A 1 (BOTTOM)
12" N/A N/A N/A 107 N/A 12° N/A N/A N/A 12° N/A 11° N/A N/A N/A N/A N/A 2 (TOP)
12* 4" N/A N/A 10" 7 1/2" 12* 7" N/A N/A 12* 6" 11" 8" 12" 7 1/2" N/A N/A 2 (BOTTOM)
12" N/A N/A N/A 10" N/A 12" N/A N/A N/A 12* N/A 1" N/A N/A N/A N/A N/A 3 (ToP)
12 - N/A N/A 10” 7 1/2" 12 7 N/A N/A 12" 6 1" 8 12 71/27 | N N/A 3 (BOTTOM) NCH, L
12" N/A N/A N/A 10" N/A 12" N/A N/A N/A 12* N/A 17" N/A N/A N/A N/A N/A 4 (TOP) ANCHOR TYPE AN‘é’EbR
12" 4" N/A N/A 10" 7 12" 12" 7" N/A N/A 12" 6" 1" 8" 12" 7 /2 N/A N/A 4 (BOTTOM) TR SP:(ZCJG
12* N/A N/A N/A 10° N/A 12° N/A N/A N/A 12* N/A 17" N/A N/A N/A N/A NA 5 (ToP) CF TAP-GRIP, PANELMATE OR PANELMATE PLUS. :
12~ 4 N/A N/A 10° 7 12" 12" 7" N/A N/A 12* 6° 1” 6" 12* 7 1/2" N/A N/A 5 (80TTOM) CALK—IN 2.5%
8 1/2" N/A 12° N/A 5 1/2" N/A 7 1/2" N/A N/A N/A 8 1/2" N/A 1 1/2" N/A 11" N/A 9 1/2" N/A 6 (TOFP) S0LID-SET 3.5"
8 1/2* N/A 12* N/A 5 1/2" N/A 7 12" N/A 10 1/2" N/A 8 1/2* N/A 1 172" N/A 11" N/A 9 1/2° N/A 6 (BOTTOM) CRETE FLEX SS54 6.0"
+63.5, ~63.5| 7 1/2" N/A 11 1/2° N/A 5" N/A 7" N/A 10 1/2" N/A 7" N/A 10 1/2° N/A 10" N/A 8 1/2" N/A 7 (TOP/BOTTOM) | 9°-0" OR LESS REGULAR & 410.5.S TAPCON IN BLOCK 4.0
N/A N/A N/A N/A N/A N/A 12" 7" 12" 12" 12" 6" 6* 6" 12 12" N/A N/A & (Tor/BOTTOM) | * REGULAR & 410.5.S TAPCON IN CONCRETE 30"
12° N/A 12° N/A N/A N/A 12° N/A N/A N/A N/A N/A 12 N/A 12° N/A 12" N/A 9 (ToP)
12° 4 12" 10" N/A N/A 12" 9" N/A N/A N/A N/A 12" 8 12* 7 1/2" 12 6" 9 (BOTTOM)
N/A N/A N/A N/A N/A N/A 12" 6" 12" 127 N/A N/A 12" 8* 12* 6" N/A N/A 11 (;gP%%DM) .
12" 4" 12" 10" N/A N/A 12° 9" N/A N/A N/A N/A 12° 8" 12* 7 1/2" 12" 6" 10 (BOTTOM)
N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A 12" 9” N/A N/A N/A N/A 13 (TOP)
N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A 12" 8" N/A N/A N/A N/A 13 (BOTTOM)
12° N/A 127 N/A N/A NA 12" N/A N/A N/A N/A N/A 12° N/A 12" N/A 12* NA 14 (TOP)
12° 4" 12* 10" N/A N/ 127 g* N/A N/A N/A N/A 12~ 8 12* 7 12" 12" 6" 14A (BOTTOM)
12" N/A 12" 7" N/A N/A 12" 6 1/2" N/A N/A N/A N/A 12" 6" 12° 5 1/2" 12" 4" 148 (BOTTOM)
11 1/2% N/A 12" N/A N/A /A 127 N/A N/A N/A NAA N/A 127 N/A 12* N/A 12" N/A 12 (TOP)
8 1/27 N/A 12" N/A N/A N/A 7 12" N/A 10 1/2" N/A N/A N/A 1 1/27 N/A 1" N/A 9 1/2" N/A 12 (BOTTOM)
1 1/27 N/A 12" N/A N/A N/A 12” N/A N/A N/A N/A N/A 12" N/A 12" N/A 12" N/A 15 (TOP)
8 1/2% N/A 12" N/A N/A N/A 7127 N/A N/A N/A N/A N/A 11 1/2° N/A 11" N/A 9 1/2" N/A 154 (BOTTOM)
N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A NAA N/A 3" N/A 3 NAA 3 N/A 158 (BOTTOM)
11 1/2° N/A 12" N/A N/A N/A 12" N/A N/A N/A N/A N/A 12° N/A 12* N/A 12" N/A 16 (TOP)
8 1/2" N/A 12* N/A NAA N/A 7 12" N/A N/A N/A N/A N/A 11 12" N/A 71" N/A 9 1/2" N/A 16A (BOTTOM)
3" e N/A N/A N/A N/A N/A 3" N/A N/A N/A N/A N/A 4" N/A 4 N/A 4" N/A 168 (BOTTOM)
6" N/A N/A N/A 8" N/A 6" N/A N/A N/A 6" N/A 6" N/A N/A N/A N/A N/A 2 (ToF)
6" 4" N/A N/A 6" 5 6" 6" N/A N/A 6" 5" 6" & N/A N/A N/A N/A 2 (BOTTOM)
+65.0, —-650| 6" N/A N/A N/A 4 1/2" N/A 6" N/A N/A N/A 6" N/A 5 1/2" N/A N/A N/A N/A N/A & (T0P) 9'-0" 70 10°-0"
o N/A N/A N/A 4 1/2" N/A 6" N/A 9 1/2* N/A - N/A 5 1/2° N/A N/A N/A N/A N/A & (BOTTOM)
6" N/A N/A N/A 4" N/A 6" N/A 9 1/2" N/A 6" N/A 4 1/2° N/A N/A N/A N/A N/A 7 (TOR/BOTTOM)
N/A N/A N/A N/A N/A N/A 6" 6" 12* 11* 6" 5 6" 5" N/A N/A N/A N/A 8 (TOR/BOTIOM) | *
" REDUCE ANGHOR. SPAGNS. BY MULTFLYING SPACIG SHOWN®ON SCHEDULE BY THE. FOLLOWING. FACTORS, * LIMTED TO 5'-4° MAX. SPAN. Wi,
CoR Tl oPERATION 10 BE. POSBLE REDUCED GhANG OBTANED USING FACTOR SHALL NoT BE \\\‘\\\\'\E A _T/( L ””’/
LESS THAN MINIMUM SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND. S W G E 2, FLORIDA _BUILDING CODE (i High Velocity Hurricane Zone)
FACTOR 5‘\ W Sf 'P ",: ©2020 TILTECO, INC. 0.050” BERTHA ALUMINUM STORM PANEL M.P
T E | mecuar Toon & | 2 L, oo e St | oucem [sou-ser for me-am £ 7 Noasrer % (2.25" DEEF) o B
e ey E |/ TILIECOme, \| PSRN SEY. W | 7
2 /2 = 71 20 - -4 Z P FTATE OF $ Ss TILLIT TESTING & ENGINEERIN'G"C%}.JPANY WES,T’HZ.:,LEA.I (%?1323.&60%?07
2" - -50 - - - %% ,,’Ké:-.,‘OR\Q?‘_.-;;éb\\\“ S O s (20 VRGN GRS, B, 100 FAX: (561)588-4780 20-186
1 1/2" 0.35 - - - - ”’II&S/é}‘& KC“\Q} & L eCA0006718 © . T T T pr——— — DRAWING No
() -l R ow 17-100  |7/9/2020 3
0™ FLORIDA Lic. § 44167 2 SHEET 10 OF 15




MAXIMUM MAXIMUM ANCHORS SPACING FOR E. 0. = 3 1/2" ¥ APPLICABLE TO
AS.D. DESIGN SECTIONS # & MAXIMUM PANEL
PRESSURE REGULAR TAPCONS CRETE-FLEX 554 ZAMAC NAILIN CALK—=IN SOLID-SET CF TAP-GRIP PANELMATES PANELMATE PLUS 410 $.5. TAPCON ANY COMBINATION LENGTH L™ (f.)
FATING (0-51) I Goncrere| 1o BLock | 70 CoNGRETE| 70 BLook | T0 ConcReTE] 70 BLack | 70 CoNGRETE] o BLOGK | 70 CONGRETE| 70 BLOGK | 70 CONGRETE| T0 BLOGK | 70 CONCRETE| 70 BLOCK | 70 CONCRETE| 70 Biock |70 conorerz| 70 BLock OF THEM E. D. = EDGE DISTANCE
6" N/A N/A N/A 3~ N/A 6" N/A N/A N/A 3 1/27 N/A 2 1/27 N/A N/A N/A N/A N/A 1 (TOP)
12* 4" N/A N/A 10" 6" 12° &" N/A N/A 127 4" g 1/2" 7" N/A N/A N/A N/A 1 (BOTIOM)
12* N/A N/A N/A 10" N/A 12* N/A N/A N/A 12” N/A g 1/2" N/A N/A N/A N/A N/A 2 (TOP)
12* 4" N/A N/A 10" 5" 12" 6" N/A N/A 12° 4" 9 1/2" 7 N/A N/A N/A N/A 2 (BOTTOM)
12" N/A N/A N/A 10" N/A 12" N/A N/A N/A 12" N/A 9 1/2” N/A N/A N/A N/A N/A 3 (TOP)
12* 4" N/A N/A 8" 6" 12* 6" N/A N/A 12~ 4" 9 1/2" 7" N/A N/A N/A N/A 3 (BOTTOM)
+65.0, =77.0 12" N/A N/A N/A 10" N/A 12" N/A N/A N/A 12~ N/A 9 1/2* N/A N/A N/A N/A N/A 4 (TOP) 9'-0" OR LESS
127 4" N/A N/A 8" 6" 12” 6" N/A N/A 12" 4" 9 1/2° 7" N/A N/A N/A N/A 4 (BOTTOM)
12* N/A N/A N/A 8" N/A 12" N/A N/A N/A 12° N/A 9 1/2" N/A N/A N/A N/A N/A 5 (TOP)
12* N/A N/A N/A 7" 5" 12” 5" N/A N/A 10" 4 7 1/2" 4" N/A N/A N/A N/A 5 (BOTTOM)
7" N/A N/A N/A 4 1/2" N/A 6" N/A N/A N/A 7" N/A 5* N/A N/A N/A N/A N/A 6 (ToP)
7" N/A N/A N/A 4 1/2" N/A 6" N/A 9" N/A 7" N/A 5" N/A N/A N/A N/A N/A 6 (BOTTOM)
6" N/A N/A N/A 4" N/A 5 1727 N/A 9* N/A 6” N/A 4 12" N/A N/A N/A N/A N/A 7 (TOP/BOTTOM)
N/A N/A N/A N/A N/A N/A 12* 6" 12° 10* 12* 4" 6" 4" N/A N/A N/A N/A 8 (TOP/BOTTOM)
6 1/2° N/A 12* N/A N/A N/A 6" N/A 9 1/2” N/A N/A N/A 9" N/A 9 N/A 712" N/A 7 (TOP/BOTTOM)
+65.0, —72.0| N/A N/A N/A N/A N/A N/A 12° 6° 12" " N/A N/A 12* 6" 12* 6" N/A N/A 11 (TOP) 9'-0" OR LESS
12* 4" 12* 9" N/A N/A 12* 8" 12* 11" N/A N/A 12" 7" 12* 6 1/2" 12* 5 11 (BOTTOM)
6" N/A N/A N/A 6" N/A 6" N/A 12* 10" 6" N/A 6” N/A N/A N/A N/A N/A 2 (ToP)
6” N/A N/A N/A 6” 5 172" 6" 5" N/A N/A 6" 4" 6” 6" N/A N/A N/A N/A 2 (BOTTOM)
6" N/A N/A N/A 4* N/A 6* N/A N/A N/A 6" N/A 5 NAA N/A N/A N/A N/A 6 (TOP)
+62.0, -73.3 6" N/A N/A N/A 4" N/A 6" N/A 8" N/A 6" N/A 5* N/A N/A N/A N/A N/A 6 (BOTTOM) |9'-0" TO 10°-0"
6" N/A N/A N/A 5" N/A 6" N/A 8" N/A 5 1/2" N/A 4" N/A N/A N/A N/A N/A 7 (TOP/BOTTOM)
N/A N/A N/A N/A N/A N/A 6" 5" 12* 10* 6" 4* 6" 4" N/A N/A N/A N/A 8 (TOP/BOTTOM) | *
1 (BOTTOM)
N/A N/A N/A NAA N/A N/A N/A N/A 12" 10" NAA N/A N/A N/A N/A N/A N/A N/A 10 (TOP)
Wy,
11 (TOP/BOTTOM) ! AT Yy,
N . 7,
\\\\‘;‘\?«?‘ ..... “ /;;/’/,,’
D £ E c.. ’,’
SIS
G s 7 No.44167 - %
ANCHORS LEGEND = :
9;5’% * 1%
Min. - - > -
* MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" EDGE DISTANCE. FOR E. D. LESS THAN 3 1/2" ANGHOR ——z Coe S
REDUCE ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING FACTORS. AHORTVPE oty 2/, 10@09 ETATE OF ‘2:5
(NOTE: Min. E. D. FOR CALK~IN ANCHORS IS 2 1/2% =] 2, O, LOR\U‘\ é"e‘
FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING OBTAINED USING FACTOR SHALL NOT BE ZAMAC NAILING, 30" %, &S A
LESS THAN MINIMUM SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND. CF TAP—~GRIP, PANELMATE OR PANELMATE PLUS. ”"/ SS / 0‘ v A \. \"ﬁ o
{J N
FACTOR CALK-IN 25" "’Immmmm““\
ACTUAL E. D.| REGUIAR TAPCON & | ZAMAC NAIUN, CRETE-FLEX SS4 & .
. CALK—IN  |SOLID-SET |CF TAP—GRIP SOLID-SET 35
410 S.S. TAPCON | PANELMATE OR PANELMATE PLUS. FLORIDA BUILDING CODE (High Velocily Hurricane Zone)
z . =
3 - .86 .75 .78 1.00 CRETE FLEX SS4 6.0 ©2020 TILTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL MP
2 1/2" - 71 50 - 80 REGULAR & 410 S.S. TAPCON IN BLOCK 40° (2.25” DEEP) DRAWN BY:
2" - .50 - - - REGULAR & 410 S.5. TAPCON IN CONCRETE 3.0" / 1_|_| L E c o \ EASTERN . METAL SUPPLY , INC 7/;{;'220
1 1/2" 0.35 - - - - 4268 WEST ROADS DRIVE :
INC. WEST PALM BEACH, FlL. 33407
6555 . Jotn Sk St S0 MRGMA CARDENS . e PRONE: (501)533 0081 20-186
Phone : (305)871~1530 . Fax : (305)871—1531 FAX: (561)585-4780
CA-0006719 REV, NO DESCRIPTION BATE | V. Mo DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. P.E. - a0 7-100 Tz

FLORIDA Lic. § 44167

4

SHEET 11 OF 15




1/4" # LAG SCREWS
THREADED PENETRATION

250'

\ /—ro EXISTING WOOD HEADER.

Cont

‘PI*

IS NN NNNNANN

REQUIRED

TO GLASS

ALTERNATIVE 1

WOOD HEADER

|

I

I

I

SEE SCHEDULE FOR |
Min._SEPARATION |
|

I

]

.

.@

A ———

Max. PANEL LENGTH (SEE NOTES BELOW)

@ 6" 0.C. W/ 1 1/2" Min.

LN

NN SN N NNNNN

1/4" © LAG SCREWS

@ 6" 0C W/ 1 1/2" Min.
THREADED PENETRATION

TO EXISTING WOOD HEADER.

gz

_J\_

ALTERNATIVE 5

WOOD HEADER
REQUIRED

SEE SCHEDULE FOR
Min. SEPARATION
TO GLASS

L N Y

NN N

wooD " STUD
© 24" 0.C.
REQUIRED

\
A
A\

é“ﬂ‘.

Max. PANEL LENGTH (SEE NOTES BELOW)—— —

é) 5
o)
3

\
¥

@ |

536"

| |

1/4°9—20 S.S.
BoLTs w/
7/8"% x 3/32*

WING NUT

@ 12" o.C.

Cont.

1/4" ¢ LAG SCREWS

6 6" 0C w1 1/2"

Min. THREADED PENETRATION
© MIDWIDTH OF PLATE.

ALTERNATIV.

1/4" ¢ LAG SCREWS

@ 6" 0C W/ 1 1/2° Min.
THREADED PENETRATION TO
EXISTING WOOD HEADER.

10 Cont.

1/4" #-20 S, S. BOLTS @

12" 0. C. W/ NUT & WASHER
X »
< o !
S Min | &

w0

2
Ma.

WOO0D HEADER

REQUIRED

SEE SCHEDULE FOR
—— Min. SEPARATION —

TO GLASS

© -

Max. PANEL LENGTH (SEE NOTES BELOW)

Cont,

Al
¥

ALTERNATIVE 7

WALL MOUNTING INSTALLATIONS

NOTE FOR COMBINATION OF SECTIONS:

SECTIONS A

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION.

\! .‘l_
I @
I
' 7/8" ¢ x 3/32"
WING NUT @
| EVERY STUD ©
IEI' ! 12* 0.c
r)’ - | §
8]
E 1.125
J._.:’ I, l'I l L
\—@ Cont.
/5555
1 @ W/ 11
RIEOU/RED “| ' Min. THREADED PENETRATION
/] ) A | @ MIDWIDTH OF PLATE.
/ \
ALTERNATIVE 2
A
SEE SCHEDULE FOR |
- Min.mSEG’lAARSASNON — |
| O
1/4"¢-20 S.5.—
BOLTS W/ |
7/8% x 3/32"
WING NUT I
® 12" 0.C. |
|

NOTES:
1. INSTALLATIONS ARE ONLY VALID FOR A.S.D. DESIGN PRESSURE RATING

g\
4 1/4" o LAG SCREWS

UP TO +65.0, —72.0 psf AND PANEL'S LENGTHS UP TO 9'-0", EXCEPT AS NOTED.

2" x_ 4" PLATI
REOgIRED

'y‘ \

© 6" 0C W/t 1/2"
Min. THREADED PENETRATION
@ MIDWIDTH OF PLATE.

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

ALTERNATIVE 3

SCALE :

/47 = 1"

-.433" 0.D.

| BUSHING W/ 1/4” 6-20 x

.634" LONG BRASS

Izsssusarzoc

A |

P\ dl I

[ TO 9'-0" Max.
PANELMATE @

[ FOR sPan uP

OR 1/4"

| #-20 ELCO male/female
12° 0.C. W/
| 1 7/8" Min. PENETRATION

70 9-0"

|
|

FOR SPANS UP TO 5°-9° AND
@ 6" 0.C. FOR SPANS UP

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

St o 44167 3
* 1K 3
x 3

'7/:{/@@ STATEOF /g

é |
%l
1 I
] I
/] | 1) &
; S
g
WOOD HEADER |
REQUIRED | 2
j)
SEE SCHEDULE | .
FOR Min. o]
SEPARATION [~ | &
TO GLASS | =
S
T W — .l\‘ l ~J
—\— A— g
Bl 2
I %
| S
L -
< / 3
| -
“dI g Il i |
A '
T \ \ \ I\\\-— © MIDWIDTH OF PLATE
\ \ )
\ I |N— .433” 0.D. x 634" LONG BRASS
\ \ r BUSHING W/ 1/4" 0-20 x
\ " 2"5. 5. S M. S @127 0cC.
_Awoob A i FOR SPANS UP TO 5-9”
PLATE \ AND @ 6° 0.C. FOR SPANS UP
/) REQUIRED 70 9'-0" Max. OR 1/4"
\ \ I #-20 ELCO male/fema/e
\ - PANELMATE @ 12" O.C. W/
g \ ) 1 7/8" Min. PENETRATION
\ FOR SPANS UP TO 9'-0"

%%, LORO S
’ S/ ONA\_ ?'& \\‘
”Muumm“
FLORIDA BUILDING CODE (High Vcloclly Hurricane Zone)
©2020 TILTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL P
(2.25” DEEP) DRAWN BY:
EASTERN METAL SUPPLY, INC 7/9/2020
"_ E CO INC. 4268 WEST ROADS DRIVE DATE:
TILLIT TESTING & ENGINEERING COMPANY WES;HS:ILEA" (75?10)233'50?1‘07
8 S 55 A RS B, e Fix: (581)388~4780 20-156
TEI‘?:AA_O%‘ZLQI; ’Sr oE V. NO DESCRIPTION DATE | AEv. Mo oESCRPTION arz DRAWING No
WL oRiDA L F 44167 : X0T17-100 |27/ 080 : SHEET 12 OF 15




WO0D TRUSSES OR RAFTER
© 24” 0. C. REQUIRED
WOOD TRUSSES OR RAFTER |

@ 24" 0. C. REQUIRED

1 ol edea
i .
I

- :I!:I!'E-||||I=|-1||||u|.-

nj

—

W/ 2 1/2° Min.

MEMBER (2" Min.

-@ NOMINAL WIDTH) THREADED

SEE SCHEDULE

: = &= |
= : L L LA AV AV L
. n . e )
| ~_1"x 4" x 1/8
f/ — = T 1/4% x 3/4" % Min. (6063~T5)
1" x 4" x 1/8" TW BUILDEX : Aurn. TUBE W/
Min. (6063-T5) TEK SCREWS [ (3) 5/16" ¢ x 4
'éo Alum. TUBE W/ €@ 6" 0.C. | ggHssgg‘;s T0
. R (3) 5/16" & x 4 .
L s o | LAG SCREWS. T0 Cont. | LOGATE SCREW _
EACH JOIST.
TEK SCREWS | K contLOCATE SCREW SEE_SCHEDULE | EXISTING WOOD
@ 6" 0cC | AT MIDWIDTH OF P08 Min. | MEMBER (2" Min.
—h— EXISTING WOOD EPARATIO) | NOMINAL WIDTH)

| FOR Min. | W/ 2 1/2° Min. AL L peNeTRATION.
SEPARATION THREADED
_A_T0GLASS | 4 i PENETRATION. ALT TIVE 10
b R
AN - _ . |
er— 1;4 #-20 x y N 1 : B0
BOLTS W, .
Lo Vs r syt -  1/479-20 5.5. I
7/8% x 3/32" | wﬁva A o | goslg W/3 B
WING NUT © — | 127 0. C 2°x 6 /8% x 3. |
EVERY, STUD | 2" x 6" WoOoD DECK WING NUT o
e 12 0. C WOOD DECK '(?53%62/4 / /| © 1270 C g x 5/52"
= REQUIRED . x
| (NO_FINISH ALLOWED) o =T & A e T 6
Cont. . { | ALLOWED) Cont. l"+ Vil b th | L , 8+ .4‘[ 12'5 c
1.125" ' { gL Y ' .
‘ ' B % N "041__ Loy ]
< | & \<£ [ - 1/4" 8 LAG ; Cont
T > 1 | screws @ 5" 0. ¢. w/ g ont.
. S & 4 /2.' i 1 1/2" Min. THREADED ﬁ N\ 1/47 0 Lac
’ : . / o Fo | ! A2 Lhs PENETRATION © MIDWIDTH 2" x ¢* patell |1 Screws @ 6* 0. ¢. wy/
S Z 1/4°0 LAG SCREWS 1 | v OF PLATE. REQUIRED 1 1/2" Min. THREADED
\1/4"8 LAG SCREWS G 4" oc W/ T L/2 Min. '| \ v\ PENETRATION © MIDWIDTH
%;EA 2 g{Nf}erﬁl Min. THREADED PENETRATION. /] l’\ \ W\ OF PLATE.

ALTERNATIVE 12 x
* VALID FOR Max. +63.5, —63.5 psf.

ALTERNATIVE 14

ALTERNATIVE 9 ALTERNATIVE 11

v mﬂm!ﬁmu,,
\\\\\‘\:‘eR Ti 4 /)

CEILING & FLOOR MOUNTING INSTALLATIONS WALL MOUNTING INSTALLATION

SCALE : 1/4" = 1" SCALE : 1/4" = 1”

NOTE FOR COMBINATION OF SECTIONS:

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

FLORIDA BUILDING CODE (High Velocily Hurricane Zone)

NOTES: ©2020 TILTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL P
1. INSTALLATIONS ARE ONLY VALID FOR A.S.D. DESIGN PRESSURE RATING (2.25” DEEP) DRAWN BY:
UP TO +65.0, —72.0 psf AND PANEL'S LENGTHS UP TO 9'—0" EXCEPT AS NOTED.
EASTERN METAL SUPPLY, INC 7/5/2020
2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN ILIECO ixc. 4268 WEST ROADS DRIVE DATE:
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. WEST PALM BEACH, FL. 33407

57.!:'5[5%7. '{;ESTI&IG & ENGINEERING COMPANY PHONE: (561)533-6061

, St Sto. 305, VIRGINIA GARDENS, £, 33166 ; -
Phone : (305)871—1530 . Fox : (305)871~1531 FAX: (561)588-4780 20-186
CA-0006719 2=V %o DESCRIFTION DATE | REV. Mo DESCRIPTION DATE DRAWING No

WALTER A. TILLIT Jr. P.E.

FLORIDA Lic. §# 44167 1 ow 17-100  |7/9/2070] 3

2 4

SHEET 13 OF 15




1/4"2x8" ELCO male

1 7/8" Min. 2" EXISTING

PENHRAWON‘\ I‘qu,‘ [ BRICK VEENER /= PANELMATE TVAS ANCHORS
/ @6 1/2" 0.0. W 1 1/2" k __k
4" x 8" (Min.) EXISTING /.;500'/4 INTo WooD HeapER O | < ——
— X ., & | . -
WOOD BEAM REQUIRED. //’Z/‘ P / [/ 1/4°0 LAG SCREWS © 6" ™ ! 1/4"¢ LAG SCREWS © 6"
STRUCTURAL ADEQUACY < ° 0.C. W/ 1 1/2° MIN. ] O.C W/ 1 1/2° MIN.
8;,5*’?5”2% ”gi_%%nm | 4 7 / . 77'”?542'&'0 PENETRATION TO " : THREADED PENETRATION TO
. EXISTING WOOD HEADER. |/
BY REGISTERED ENGINEER _ ,_ / " -.500 i} /1 . / A\ / EXISTING WOOD_ HEADER.
OR ARCHITECT PRIOR /1 \:, | A1 1 A ;/ 4 250" _ |/ o spor 250 A 4 250
TO SHUTTER INSTALLATION. [/ /-I =/ — [ | Max. | ez -390 /~ Mox. # 500" Max.
1 Al T
/¥ » '/ . T ¥ ) \ : | i’ f T
2 [ \ I l
1/478 LAG SCREW - -250" wooo// Min. / | | A / \ 2" “ . | / z |
@ 4" 0.C W/ 1 1/2" Mid | : HEADER=" 1/ / —g’) % Wl ——(2) cont. ¥ i ———(2) cont.
| o D L
| L/ | EXISTING | — = | s [ | |
| N _@ I _igiﬁa&'}’gﬁw“ NTEL | WO0D HEADER | g} WOOD HEADER |
| g | | B¥o) REQUIRED | @ o oo e | @ Ny
Qo o~
SEE SCHEDULE FOR | g [l | l g SEE_SCHEDULE | &
Min. SEPARATION | | ‘ SEE SCHEDULE | W FOR Min. 0
AR I S IE— T | 5 <EBieltn g E 5
& ARATION TO GLASS =
1,11 2 [l | S TO GLASS I x I 4ol 1 -
ALTERNATIVE 15 ] | . | g I T T ¢
' | ~ DETAIL 2/15
: ! 5 Al Lt : o s |
& I W /\/ 1 i 2 EXISTING — 34" =
W
5 ty 4 M g  colass F =0 3
A 3 I | & -0 < . | g
| o ' | S I S <
2 | S _/ —_ 3 b3
| : | | t g R st
g T : /4°0-20 S.5.
| . N | /| 7 x 332 | gors w/ 8
e = L | 8| /| e
WING NUT @ — = Biie | 3 v ont, | . €. / !
EVERY. STUD - N - |_I__I:| R | @ 12" 0. C
® 12° 0., : ® [ ewem | T [ ERicK s | ® 8 —V// . | \'\“
WOOD———_;_ o ] s | s Ea[ iy . S
ALTERNATE LEG_ Cont l PATE 1+ Y = 'ﬁ 7 | | |/ 1 7 L Y I[
LOCATION™\ ; 125 | | L ' 5% / y i L N
e AN d = 6 5.” \ . &/ pusTNG | A \\ I\ \ " | \L1/4"% LAG SCRews @ 6” EOL : N
= . U N FLasH |\ d 0.C. W/ 1 1/2" MIN. 4 = . B
E 174 | | 1 7/8 Min. !I \\ |\ APPLICABLE | / \ Y THREAD/ED PE{VE’R ATION @ \ -|I lll \ i 7 4-? LAG SCREWS i \‘-
—— 2" PENETRATION r" \ o\ U i 7 | | 2" x 4" PLAT ‘ | MDWDTH OF PLATE )\ | @6"0 c w1 27/32 L
e R | L | y . REQUIRED V‘ R | in. PeEnETRATION © .
o | | % =X 2] /' A 8 | \, g ‘ | 2 e MIDWIDTH OF PLATE. N
2" x 6% | . \ Iff &
Woop pECK - 1/478 LAG SCRew // ' \- \ " Max ] - | v\ U 4 REQUIRED _ || [} -~ INTERIORLY REMOVABLE PANEL(D) W/ —
REQUIRED e P%E‘RA%?)N Min. . ey ' /] WL SIDEWALK BOLTS (SEE DETAL 2)
(Mo, FnisH oy g T / ® | ) I[: CONNECTED 70 (1) THRU 5/8%
X \ 4 i ol
ALTERNATIVE 16 * o 16 0o vn mesd % \ cont. / ALTERNATIVE 18A * Z?‘ézs’w@;}a%,?'/%;-‘ NG NUT

<EXISTING Min. 1/2" PLYWOOD \_ EXISTING

- j REQ'D (TYP) W/ FASTENING BRICK SILL / 1/47 9-20 x 3/4"
1/4"0x8" ELCO male PANELMATE _| 710 STUDS  AS PER BoLts w/ 7/8%

ALTERNATIVE 18B *
TVAS ANCHORS @ 4 1/2" O.C. TO  SECTION 2909 OF THE 3/32" WING NUT

EXISTING PLYWOOD SOUTH FL. BUILDING CODE, @ 12°0. C. m_mmw
*
ALTERNATIVE 17 _SE_QZL_MQ_B * VALID FOR Max. +63.5, —63.5 psf.

* VALID FOR Max. +63.5, —63.5 psf. SCALE : 1/4" A.S.D. DESIGN PRESSURE RATING.

A.S5.D. DESIGN PRESSURE RATING.
UILD— . INSTALLATIONS VALID FOR PANELS (1) USED JOINTLY
WITH INTERIORLY REMOVABLE PANELS (1)

SCALE : 1/4" = 1"

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

© EVERY SIDEWALK BOLT.

CEILING & FLOOR
MOUNTING INSTALLATIONS

SCALE : 1/4" = 1"

NOTE FOR COMBINATION OF SECTIONS:

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

w,..mmm;,”

NOTES: & \,(’—?‘ .[/7‘:’;',, FLORIDA BUILDING CODE (High Velocily Hurricane Zone)
N . ‘\\ ?.._- '.. I”
1. INSTALLATIONS ARE ONLY VALID FOR A.S.D. DESIGN PRESSURE RATING S0 ENSe -z ©2020 TILTECO, INC. 0.050" BERTHA ALUMINUM STORM PANEL wp
UP TO +65.0, —72.0 psf AND PANEL'S LENGTHS UP TO 9'—0", EXCEPT AS NOTED. N : (2.25” DEEP) DRAWN B:

'Q TATEOF  -ac WEST PALM BEACH, FL. 33407
w S By TILLIT TESTING & ENGINEERING COMFANY PHONE: (561)533~6061 20-186

> No. 44167 % % TiilEco . \| EASTERN METAL SUPPLY, INC | 7=
2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN _@ ik E ’ )
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. ‘7/4 * Sl § / IL E C O INC. \ 4268 WEST ROADS DRIVE DATE:

-, . Ay 6355 N.W. 36th. St, VIRGINIA GARDENS, Fi.
’—, @) FLOR\DV‘ é" N Prore (30558711390, . Fax ¢ (3000811831 Fax: (561)588-4750
2, AN DRAWING N
<(:S-, .......... \\Q) & WALTEI?A;D%QEI; 7‘” . REV. ND DESCRIPTION DATE | REV. Mo DESCRIPTION oare o
2, . . P.E. ~
“n,, S/ON A\.E N FLORIDA Lic. § 44167 : LD 17100 ’”’”"’} : SHEET 14 OF 15




1/4"8 5.5. LAG SCREW

1/4°¢ S.S. LAG SCREW

© 4" 0.C. W/1 1/2° MIN. —

THREADED PENETRATION
4" x 8" (Min.) EXISTING
WOOD BEAM REQUIRED.

TO HOLLOW CEILING AS

-+ ALTERNATIVELY, TRACK @ MAY BE ATTACHED
ON ALTERNATIVE 9A, SHEET 13 OF 15.

@ 4™ 0.C. W/1 1/2" MIN.
THREADED PENETRATION

——___ 4" x 8" (Min.) EXISTING

WOOD BEAM REQUIRED.

PER DETAILS SHOWN

STRUCTURAL ADEQUACY
OF EXISTING W0oOD

STRUCTURAL ADEQUACY
OF EXISTING WOO0D

BEAM TO BE CERTIFIED
BY REGISTERED ENGINEER

BEAM TO BE CERTIFIED

1/4°¢ S.5. LAG SCREW — BY REGISTERED ENGINEER

1/4"¢ S.S. LAG SCREW —]

@ 4" 0.C. W/1 1/2" MiN. OR ARCHITECT PRIOR © 4" 0.C. W1 1/2" MIN. / [ro 8y OR ARCHITECT PRIOR
THREADED PENETRATION 70 SHUTTER INSTALLATION. (+) THREADED PENETRATION - 70 SHUTTER INSTALLATION. (-I-)
jo.25 | 0.25% |  |0.25” 0.25"
* | i ,
- __ —— | l == I @
| £ G H | 3 |
Cont. S K Cont. % Cont. ) % Cont.
| & @ | g |
SEE SCHEDULE | i A see scHEDULE g | @ /| see_scHEDULE | §
A Min. | YO S EYSING | ™" FOR Min. 2 A | S gume— | Min. | D &
EXISTING SEPARATION SEPARATION " EXISTING — SEE_SCHEDULE SEPARATION 0
LASS 70 GLASS | vy TO GLASS o GLASS . _FOR Min. __| | _.® i 70 GLASS | B
o o SEPARATION o | Q
| i IS N TO GLASS l i By - 3
= A 'G & — Llﬂ
| ¢ =i = DETA 2 T g | 5 L T ]
L -~ [*]
— = " I g - o S NI | F® &
— g i g —+- A g S 1 ¥ S
7 g T B¥o S g | R g
| X Q Py \“‘\ J
O) . || % | +® ) Mt pETAL 2 N
| S ®_\ = 3 <
| 2 | | 3 | g
|
. . \—7/8" 8 x 3/32" | A—7/8" 0 x 3/32" | A—-7/8" 0 x 3/32% ¥
7/8" 0 x 3/32 | / S
A s i ¢ v e | | e e b €
Priied | 71| erzoc b ® 12" 0. C. Cont. "\ | © 12" 0. C.
©— I\ ALTERNATE ALTERNATE \ |
Cont. —{ LEG LocATIoN T \
* 1. 12.5- | \l ,:L 1124

T 2°x 6" -
--—wooo o

=

= WOOD DECK =
e REQUIRED / ;?.T‘T’“‘“————_____ﬂ REQUIRED 1= | REQUIRED
/ / I
/ L INTERIORLY REMOVABLE PANEL@W/ ,f/ INTERIORLY REMOVABLE PANEL@ 780 N .
1/4" LAG SCREWS © 4" oc; 14 LAG SCREWS © 2" 0.C. - SIDEWALK BOLTS (SEE DETAIL 2) / SIDEWALK BOLTS (SEE DETAIL 2) __| 1/4¢ LAG SCREWS @ 2" O.C.
W/1 1/2" MIN. THREADED PENETRATION W/1 1/2" MIN. THREADED PENETRATION CoNNECTED TO (1) THRU 5/870 1/4% LAG SCREWS @ 4~ 0. — CONNECTED T0 (1) THRU 5/8% W/1 1/2" MIN. THREADED PENETRATION
' HOLES AT ® 6" 0.C & FASTENED W/1 1/27 MIN. THREADED PENETRATION HOLES AT @ 6" 0.C & FASTENED
AT REAR W/ 7/870x3/32" WING NUT AT REAR W/ 7/8°0x3/32" WING NUT
© ‘EVERY 'SIDEWALK BOLT. © EVERY SIDEWALK BOLT.
LHOUT s,
CTIONS 19 S 20 Sl g,
SCALE : 1/4" = 1" SCALE : 1/4" = 1" Daket 5 %
4 v S QCENSS AP

7/4'—20x1' 5.S. SIDEWALK BOLTS,

W/3/4" SLOTTED HEAD, FIXED :
4 )(_ INTERIORLY RWO@BL: :A’Lﬂb 7 / .
y y 1 | Woiaas T 7 ReaR. . NOTE FOR COMBINATION OF SECTIONS: 0// ’@,ga STATE OF $
7/8" 8 x 3/32" 5 / REMOVABLE R
WING NUT &—. S ] Pave Z O A S8
B \ J . pd FLOOR/CEILING MOUNTING SECTIONS CAN BE Z ORID™, Q N
N — e e, rons cu e, | INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS 255 t0R 0L
Yy STONAL ©Y
‘ ‘ | | Uty
a : z l |
® RN %
R N R | | FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
J N | l NOTES: ©2020 TILTECO, INC. " 0.050” BERTHA ALUMINUM STORM PANEL mP
. 7N | | 1. INSTALLATIONS ARE ONLY VALID FOR A.S.D. DESIGN PRESSURE RATING _ (2.25” DEEF) S —
wr— H h \‘;(\ o , UP TO +65.0, —65.0 psf AND PANEL’S LENGTHS UP TO 9’0" / l I \ EASTERN METAL SUPPLY, INC 7/9/2020
e T
. " 4268 WEST ROADS DRIVE DATE:
{—os0r {DHoe @ 67 0c. 2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN ILIECOnc WEST PALM BEACH, FL. 33407
I . o m PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. L T;;g"gg; o e INEERING COMPANY, FHoAE gg’f))ggg-jgg; 20-186
QE!Z[L z_mw Phone : (305)871-1530 . Fax : (305)871-153 ¢ B
SIDEWALK BOLTS @ REMOVABLE PANEL L A T ST
. r. .
SCALE: 17 = 17 FLORIDA Lic. # 44167 : ! o 17-100  /s/zen0 3 SHEET 15 OF 15




